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UPCOMING ONLINE BATCHES

04 May 2022

BANK ONLINE LIVE CLASS

10:30 AM to 12:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

May 2022

11 May 2022

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL

@& www.mahendras.org

18 May 2022

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

25 May 2022

BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM

SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL

CUET ONLINE LIVE CLASS

BANK ONLINE LIVE CLASS

ENGLISH & BENGALI

W 7052477777/7052577777
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MISSING DATA TABLE
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Study the table below and answer the given question.

Some data is missing in the table. Table shows data regarding Rs.20 notes received by 5 different banks during demonetization

PNB 15000 @ - T e ———
SBI e 80% 0 mememee- 900000
AXis 10000 = - 1:4 = e
BOI = e 75% 3.5 0 emeeeeee
BOB 24000 00000 - e 480000

Note:- 1) Return is the amount (face value of note) of note returned by the bank to its customer.
2) Each bank has given of minimum 50% return on all notes received by it.
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Q.1:- If difference of notes on which 50% return is given and on which 80%
return is given of PNB is 1000 , then find number of notes on which 100% is
given by PNB are what percent of total notes received by BOB?

gfe PNB ® 50% 3R 80% d&d ST el AIc] &1 3id? 1000 8 | < PNB &
100% S 3 91d Hie , BOB §RT 9¢d ¢ $d A &1 fhad1 % & ?

(A) 12.5% (B) 45% (C) 37.5% (D) 40% (E) None of these
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Q.2:- If total number of notes on which BOI gave 100% return and 50%o return are
13500 then find total amount received by BOI is how much more or less than total

amount received by Axis Bank ?
afg BOI R1.100% 3MR 50% dqet T Ff AT 13500 § | df BOI §RT U &1 g
IR vfea d' gRT UTw 121 A fod=1 1 a1 WTeT 872

(A) 40%  (B) 60% (C) 37.5% (D) 35% (E) None of these
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.3:- If ratio of notes on which (50% return : 80% return) is given by BOB is same as ratio of notes on
which (50% return : 80% return) is given by Axis Bank and number of notes on which BOB gave 100%
return are 20% less than total notes received by PNB, then find ratio of notes on which BOB gave 80%
return to that of on which it gave 100% return.

gfe Aiel &1 3guTa forg U= (50% aTu=l: 80% dTU«T) BOB gRT f&ur /an g, @i Aiel &
3UTd & THM (50% aTIH: 80% dATUNY) Ty db gRT feaT a1 § SfiR Aiel &I J&
forT w BOB 7 100% f¥e faar, ag PNB GRT U $a el | 20% $4 g, e 3T A1 &

(A)45 (B) 54  (C)3:4 (D) 4:3 (E) None of these

PNB 15000 - 57 | -
) | ——— 80% - 900000
Axis 10000 - 17 S—
;o] INp— 75% B | e

BOB 24000 @  ------m eeeeee- 480000
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Q.4:- If total no of notes received by BOI is 40% less than total number of
notes received by SBI , then find average number of Rs 20 notes received by

these five banks.
af BO| B T P Y PV IS SB| B I eI A A ger
40% PH g, dl 39 Ui 1 §RT TG 3RId 20 ¥ & Il Pt H&IT 1

(A) 24200 (B) 25000  (C) 20000 (D) 30000 (E) None of these
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Q.5:-1f Percentage of notes on which 100% return is given by PNB is 50%b,
then find the amount earned by PNB in this whole transaction?

gfe X el &1 ufa=rd o IR PNB A 100% 9€dT 81 50% 21 df 59 ad

o9 § PNB A fa-t I srfola &2

(A) 48750 (B) 48800 (C) 47750 (D)47850 (E) None of these
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Irections (1-5): Study the following graph and answer the following questions.
fAd=T (W.1-5):- feU 7T 3Mg &1 &= 9§ 3 3R U MU U ST 3IWR < |
A person invested different amount in different years at different rate of interest for different years as
described in below table. Some values are missing. Answer the questions on the basis of given table and
Information in question.

Simple/ Rs. 15000 6% / 5% 5/--
Compound

Compound Rs. 25000 4%

Compound Rs. 800

Simple Rs. 25000 Rs. 1750

Simple Rs. 2800
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- In 2013, If the Interest was calculated semi-annually, the interest would have been Rs

2060.804 rglven e period. Find the interest when c unded annually.
m%%m ﬁg?}:a’l%{ﬁar’}’r dl ?r}ré{rnﬂ'gwaﬁ?ﬁ feTT saTeT 2060.804

R T JTd PIoIC |

(A)Rs.1960 (B)Rs.2070  (C)Rs.2040 (D)Rs.2220  (E)Rs.2150

Simple/ Rs. 15000
Compound

Compound Rs. 25000

Compound

Simple Rs. 25000

Simple
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- In 2014, the dlfference between compound Interest and simple interest for the given perlod

|s Rs 0. su nvested for3 years hat will be the c und interest after. 3.ye
2014 ﬂiﬂ%ﬁ :/%\ﬁ? ﬁlﬁr&mmwﬁ I‘CTI%QTQT
?’f 3 WEI'IE.’

(A)Rs.2728  (B)Rs.2655 (C)Rs.2328 (D)Rs.2522  (E)Rs.2544

Simple/ Rs. 15000
Compound

Compound Rs. 25000

Compound

Simple Rs. 25000

Simple
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Q.3:- In 2015, if rate of interest Is increased by 3%, what will be the amount received after given

iod?
DTS af TeT ax & 394 Y g Y ST 2, ) € T arafRy & e e iRy T @
(A)Rs52000  (B)Rs45000  (C)Rs42000  (D)Rs.47000 (E)Rs.54000

Simple/ Rs. 15000 6% / 5/--
Compound 5%

Compound Rs. 25000 4%

Compound

Simple Rs. 25000

Simple
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Q.4:- In 2016, th mount becomes Rs 57, éo 8 years, find the rate of interest.
2016 a'l'q’ 57,400 '\W% Gl'l?ﬁ% qTe] ¥ JATd |

(A)6% (B)10% (C)7% (D)9% (E)8%

Simple/ Rs. 15000
Compound

Compound Rs. 25000

Compound

Simple Rs. 25000

Simple
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Q.5:- In 2012, the person invested Rs 7000 at simple interest and rest at compound interest. If
the total amount received after respective periods is Rs 17,920, then find the time period for

whic%the mount was invested at compound interest. o

2012 H, ATYTRUT STSL TR 7000 r‘gﬁasgv ;h@—c@ TSl IR 2 ﬁ%ﬁﬁ%ﬂ%
P a1e uégw 17,920 , d dg THg 3af

Tehqles STl U |

(A)1 Year (C)4 Years

(B)3 Years (D)2 Years (E)None of these

Simple/ Rs. 15000 6% / 5/--
Compound

Compound Rs. 25000 4%

Compound

Simple Rs. 25000 == 8 Rs. 1750

Simple
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THANKS




